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Attempt any Five questions.
All questions carry equal marks.
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1. in the light of Austin’s theory of Law, explain the
following : 10x2=20
(a) Independent Political Society
(b) Laws properly so called.
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(2)
Hart expounds his theory of law as the union of primary

and secondary rules. Explain, how far this theory is

applicable in our Indian context? 20
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“The efficacy of the entire legal order is a necessary
condition for the validity of every single norm of the
legal order, 2 condition, sine-qua-non, not the reason for
the validity of its constituent parts.” Explain the above
statement and the significance of Grundnorm in a legal

order. 20
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According to Savigny, “Law has a national character”,
Do you think that received law can never be effective?

Explain with reference to the impact of recei\.fed law
in India. 20
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Explain the four stages of development of law given by
Maine with the help of examples. Do you agree that the
movement of progressive socicties has hitherto been a
movement from sfatus to contract? Give reasons for your

answer. 20
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Explain Pound’s classification of interests. Do you think
that Pound’s engineering analogy is apt to misiead? Support

“ your answer with relevant examples. 20
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Explain : 10x2
(a) Natural Law with a variable context.
(6) Theory of Justice by Prof. Rawls.
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(4)
A young boy of 22 years tries to immolate himself in front
of the Prime Minister’s house. He i§ part of a group of
students protesting against discriminatory practices of the
teaching as well as administrative authorities towards
students belonging to scheduled ciStes and Tribes in their
college. The boy is arrested and tried w/s 3(;9 of the IPC
for attempted suicide. Decide in the light of Speluncean

Expiorer’s case. 20
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